
Lecture 2 - JURIES (11/03/2005)

1. The 7th Amend says: In suits at common law, where the value at controversy exceeds $20, the right of trial by jury shall be preserved.
1.) That $20 controversy amt has never been raised – thus, all you need is a $21 claim to have a jury trial
2.) The right is NOT ‘created’, it’s ‘preserved’ – preservation requires recog that something existed and continues to exist
2. Therefore, the SCt has always held that what’s been preserved historically is:
1.) When: 1791- the date on which the Bill of Rights & 7th Amend became effective
2.) Where:  England, rather than any of the several states.  Why?
i. Legal systems of states weren’t all that well developed, and 
ii. Since all the states had diff rules, whose right s/b preserved? VA? NY? Etc
iii. To get around that problem the SCt has always held that it is the right to a jury trial as it existed in England that is preserved 
3. The 7th is not applicable to the states – one of only 2 parts of the Bill of Rights that have not been ext’d to the states thru the Due Process clause of the 14th Amend
1.) That means the states are free to do anything they like, w/out constitutional restrictions, in terms of giving you or not giving you a jury
i. HOWEVER, as seen in Dice v. Akron, if some state statute gives you a right to a jury trial, then the Supremacy Clause requires that the states honor that, so long as we decide that that right is bound up w/ the rights & obligations that the Congress thought it was creating 
2.) The right to a jury trial is NOT symmetrical
i. If you DO have the right to a jury trial, either party has that right (either the Π or the Δ)
ii. But if you DON’T have the right to a jury trial, you NEVER have a right to a bench trial
3.) Procedural req’ts of Rule 38 – if you don’t follow them, then you have waived your right to a jury trial
4. So, when did you have a right to a jury trial in England in 1791?
5. 7th Amend says you a right to a jury trial at ‘suits at common law.’  What were such suits at common law in England in 1791?  
6. The English common law ct system (Kings Courts), where you got a JURY TRIAL, was originally divided into 3 parts
1.) The Court of the Kings Bench
2.) The Court of Common Pleas
3.) The Court of the Exchequer Chamber 
7. Problem originally w/ the English legal sys was that it was very rigid
1.) It gave only 1 kind o’ relief – money damages
i. If you wanted something else, such as to have the K specifically enforced, well, the common law cts wouldn’t do that 
2.) Also rigid b/c of the procedures that it allowed – only allowed “1 Π  v. 1 Δ, based on 1 CoA”
i. No Interpleader, class action, multiple joinder, etc
8. B/c people didn’t like the rigidity of the legal system, there arose in competition to it, the Chancellery System
1.) The Chancellery was the ‘conscience of the king’
2.) Orig started as a plea to the Chancellery personally to do something for you  
3.) This ct could do stuff that the common law cts couldn’t do – ie relief other than money (injunctions, specific performance, rescission of K’s,) and joinder mechanisms (class actions, interpleader actions, etc)
4.) NO JURIES utilized in these cts 
9. Thus, there grew to be 2 systems of cts in England – the Kings Courts, which utilized juries, & the  Chancellery cts, which did not
1.) Is Kings Courts the three courts listed in 6?
10. Now, how you got into the Kings Courts was by picking a ‘writ’, and you picked the correct one.  Based on the kind of writ you sued out, that determined which one of the Kings Courts you got into, or ever whether you were able to get into them at all.
1.) IE: Scotts v. Sheppherd (Torts case; Firecracker thrown into a market square, passed around like a hot potato – eventually one dude gets eye blown out)
i. Scott sues Sheppherd on writ of trespass – suit involving a direct injury
ii. The Δ doesn’t dispute behavior, but argues Π had picked the incorrect writ - To get into ct, Π s/h used writ of ‘trespass on the case’ – the writ you used when suing for an indirect injury
iii. TC: Π wins.  Direct injury, b/c people who passed firecracker along did so out of involuntary reaction to get away from firecracker – thus injury was direct
iv. Ct of Appeal of Exchequer Chamber – TC was correct
2.) A lot of times, though, Π’s lost b/c they used the wrong writ.  No way to combine the two writs b/c of the ‘1 Π v. 1 Δ, based on 1 CoA’ procedures
11. THIS IS HOW OUR JURY SYSTEM WORKS:  If in 1791 you could have brought your 2005 ‘writ’ (claim) to a Kings Ct in England, and therefore have gotten a jury trial, then you get a jury trial in 2005 here in USA.  If your ‘writ’ would have only gotten you into Chancellery Ct, where you didn’t get a jury trial in 1791, then you don’t get a jury trial today either 
12. The hard cases are caused by 3 things:
1.) 1791 was just a snapshot of the English legal system, and it was in a state flux then
i. Chancellery cts had started to give the types of relief that the Kings cts gave
ii. Replevin, ejectment were in common law courts in 1791 so you would have a jury now
2.) B/c we have merged the legal and equitable systems in our fed sys, that means you can do a lot of things together in a single case that you couldn’t do in 1791 law & equity cts
3.) The legal system has not stood still in this country either.  We have a lot of things that are legitimate claims that exist in 2005 that didn’t in 1791.  So it’s hard to ask the question, ‘what writ would you have used in 1791’, b/c there was no such write then
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